| can under st and and
use distributive | aw

Di stri butive |aw hel ps us to answer

multiplication questions by breaki ng_down

| arge nunbers into small er nunbers.
For exanple: 26 x 7

The difficulty here is the nunber 26, we
know our 7 tines table!
We know that 26 is nmade up of 20 and 6
because 20 + 6 = 26

So we wite: 26 X 7

(20 + 6) x 7

(20 x 7) + (6 x 7)
140 x 42

182

“‘ Follow the principles of distributive |aw

for the foll owm ng questions: -

1) 24 x 8 11) 27 x 8
2) 34 x 6 12) 26 x 9
3) 13 x 4 13) 29 x 6
4) 27 x 9 14) 34 x 4
5) 32 x 8 15) 28 x 9
6) 54 x 7 16) 29 x 8
7) 17 x 6 17) 38 x 8
8) 28 x 4 18) 26 x 7
9) 28 x 7 19) 37 x 6
10) 36 x 4 20) 36 x 6






